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Causal observation of stock prices suggests a relationship between movements in the
market as a whole and movements in individual stocks. The “market model” is a simple
expression of this idea indicating :

R =, +ﬁ, Ro + &
is the return on stock i attimet,
is the return on market index.
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Please answer the following questions :

Question 1

Assume the “Market Model” is true and ¢, is independently and identically normally
distributed as N(0, ¢?). &,is uncorrelated withR_,. Suppose you calculate a, s by ordinary
least squares(OLS) for each of 10 randomly selected company stocks. What will be finite
sample properties of your OLS estimator? [6 4 ]

Question 2
(1) If you want to test the null hypothesis g=0 against g>0 for each stock, what will
be the distribution of your test statistics? [2 4 ]
(2) If you want to test the null hypothesis «=0and =0 againsta #0or ##0 for each
stock, what will be the distribution of your test statistics? [2 4 ]

Question 3
(1) How will you test the assumption of E[¢,¢,,]=0 for each stock? [2 4 ]
(2) If the test rejected E[¢,¢,,]=0, what finite sample properties of your OLS estimator in

disappear? [2 4 ] Are your tests in still valid? Why? [3 4 ]

(3) What will be your suggested best estimator under this condition? [2 4 ]

Question 4
Is it possible for ¢,to be heteroskedastic?Please give the name of this model and

suggest the best estimator for this model. [6 %~ )
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Consider a perfect capital mobility nation in which the demand for money is relatively
stable. Export and import expenditures have fluctuated considerably in recent years.
Political instability has led to considerable variation in government spending. If the
country’s primary goal is real-income stability, should it adopt a system of fixed or floating
exchange rates?

(1) Explain your answer with words and diagram. [16 % ]

(2) What are the advantages of the exchange rate regime for your answer in part (1)

(fixed or floating)? [9 ~ ]
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